Fort Bend County Tabulation Bid 25-055

Construction of Bellaire Blvd Right Turn Lanes for Fort Bend County Mobility Bond Project No. 20313x

Recommended: Teamwork Construction Services, Inc. \$686,530.42 Funding: Mobility Bonds

Company	Bid Price	Completion Time in Calendar Days
Teamwork Construction Services, Inc. Houston, TX	\$686,530.42	120
Wilson Building Services, Inc. Stafford, TX	\$779,105.67	120

					Teamwork Cons	truction Services, Inc.	Wilson Buil	ding Services, Inc.
em No.	Spec. No.	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Total Price	Unit Price	Total in Figures
NITE DD		FYGAVATION						
1	EPARATION AND 104	Removing Old Concrete (Sidewalk)	SY	196	\$24.00	\$4,704.00	\$30.00	\$5,880.00
2	104	Removing Old Concrete (Curb Ramp)	SY	26	\$24.00	\$624.00	\$30.00	\$780.00
3	104	Removing Old Concrete (Curb Namp)	LF	923	\$4.00	\$3,692.00	\$4.00	\$3,692.00
4	110	Roadway Excavation	CY	2,355	\$34.00	\$80,070.00	\$40.00	\$94,200.00
5	495	Removing Old Structures – Inlets (All Depths)	EA	4	\$645.00	\$2,580.00	\$1,500.00	\$6,000.00
6	500	Remove & Relocate Traffic Signs, Mail Boxes and Roadway Signs	EA	2	\$955.00	\$1,910.00	\$900.00	\$1,800.00
7	540	Remove and Dispose Existing Asphaltic Surface and Base Material (All	SY	82	\$32.00	\$2,624.00	\$50.00	\$4,100.00
		Depths)		-	·		·	
8	562 TxDOT 7211-	Prepare ROW	LS	1	\$5,650.00	\$5,650.00	\$65,000.00	\$65,000.00
9	6106	CASH ALLOWANCE, Remove Ex. Light Stds/Poles	LS	1	\$436.17	\$436.17	\$436.17	\$436.17
IBTOTAL	. SITE PREPARA	FION AND EXCAVATION ITEMS				\$102,290.17		\$181,888.17
PAVEME	ENT							
10	360	Concrete Pavement (8")	SY	689	\$116.00	\$79,924.00	\$95.00	\$65,455.00
11	360	Concrete Pavement (14") Fast Track	SY	161	\$225.00	\$36,225.00	\$150.00	\$24,150.00
12	433	Cement Stabilized Sand (8" thick)	SY	833	\$32.00	\$26,656.00	\$35.00	\$29,155.00
13	530	Concrete Curb and Gutter (Monolithic)	LF	880	\$22.00	\$19,360.00	\$8.00	\$7,040.00
14	530	Reinforced Concrete Sidewalks (4-1/2")	SY	473	\$104.50	\$49,428.50	\$80.00	\$37,840.00
15	530	ADA Ramp - Type 5	EA	2	\$3,950.00	\$7,900.00	\$3,500.00	\$7,000.00
16	530	ADA Ramp - Type 1	EA	1	\$3,650.00	\$3,650.00	\$3,500.00	\$3,500.00
17	530 PAVEMENT ITE	ADA Ramp - Type 21	EA	2	\$3,750.00	\$7,500.00 \$230,643.50	\$4,000.00	\$8,000.00 \$182,140.00
BRIDGE								
BRIDGE 18 19	421 TxDOT 450	Structural Concrete (Concrete Collar) Pedestrian Railing (Type A)	CY LF	2 40	\$1,500.00 \$295.00	\$3,000.00 \$11,800.00	\$3,000.00 \$150.00	\$6,000.00 \$6,000.00
18 19						,	,	
18 19 JBTOTA L	TXDOT 450 BRIDGE ITEMS					\$11,800.00	,	\$6,000.00
18 19 JBTOTA L	TXDOT 450 BRIDGE ITEMS	Pedestrian Railing (Type A)				\$11,800.00 \$14,800.00	,	\$6,000.00 \$12,000.00
18 19 JBTOTAL	TxDOT 450 BRIDGE ITEMS SEWER 460	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24")	LF LF	33	\$295.00	\$11,800.00 \$14,800.00 \$8,580.00	\$150.00	\$6,000.00 \$12,000.00 \$9,075.00
18 19 JBTOTAL STORM 20 21	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24") TXDOT INLET (COMPL)(PCO)(4FT)(NONE)	LF LF EA	33 1	\$295.00 \$260.00 \$4,950.00	\$11,800.00 \$14,800.00 \$8,580.00 \$4,950.00	\$150.00 \$275.00 \$9,000.00	\$6,000.00 \$12,000.00 \$9,075.00 \$9,000.00
19 JBTOTAL STORM 20 21 22	TxDOT 450 BRIDGE ITEMS SEWER 460	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet	LF LF	33	\$295.00 \$260.00	\$11,800.00 \$14,800.00 \$8,580.00	\$150.00 \$275.00	\$6,000.00 \$12,000.00 \$9,075.00
18 19 JBTOTAL STORM 20 21 22 JBTOTAL	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet	LF LF EA	33 1	\$295.00 \$260.00 \$4,950.00	\$11,800.00 \$14,800.00 \$8,580.00 \$4,950.00 \$14,385.00	\$150.00 \$275.00 \$9,000.00	\$6,000.00 \$12,000.00 \$9,075.00 \$9,000.00 \$22,500.00
18 19 JBTOTAL STORM 20 21 22 JBTOTAL	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet	LF LF EA	33 1	\$295.00 \$260.00 \$4,950.00	\$11,800.00 \$14,800.00 \$8,580.00 \$4,950.00 \$14,385.00	\$150.00 \$275.00 \$9,000.00	\$6,000.00 \$12,000.00 \$9,075.00 \$9,000.00 \$22,500.00
18 19 JBTOTAL STORM 20 21 22 JBTOTAL	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02511	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24") TXDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet ITEMS 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction	LF EA EA	33 1 3	\$295.00 \$260.00 \$4,950.00 \$4,795.00	\$11,800.00 \$14,800.00 \$14,800.00 \$8,580.00 \$4,950.00 \$14,385.00 \$27,915.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00	\$6,000.00 \$12,000.00 \$9,075.00 \$9,000.00 \$22,500.00 \$40,575.00
18 19 JBTOTAL STORM 20 21 22 JBTOTAL WATER 23 24	TXDOT 450 BRIDGE ITEMS SEWER	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TXDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends	LF EA EA LF	33 1 3 3 323	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00	\$11,800.00 \$14,800.00 \$14,800.00 \$8,580.00 \$4,950.00 \$14,385.00 \$27,915.00 \$20,026.00 \$1,208.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00	\$6,000.00 \$12,000.00 \$9,075.00 \$9,000.00 \$22,500.00 \$40,575.00 \$43,605.00 \$1,800.00
18 19 JBTOTAL 20 21 22 JBTOTAL WATER 23 24 25	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02511 COH-02506 COH-02506	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TXDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet ITEMS 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch by 22.5 degree bends	LF EA EA LF EA EA	33 1 3 3 323 2 2	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$604.00	\$11,800.00 \$14,800.00 \$14,800.00 \$4,850.00 \$4,950.00 \$14,385.00 \$27,915.00 \$20,026.00 \$1,208.00 \$1,208.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$900.00	\$6,000.00 \$12,000.00 \$9,007.00 \$9,000.00 \$22,500.00 \$40,575.00 \$43,605.00 \$1,800.00
18 19 BTOTAL 20 21 22 BTOTAL 23 24 25 26	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02501 COH-02506 COH-02506 COH-02085	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24") TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet ITEMS 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch gate valve and box	LF EA EA EA EA EA EA EA	33 1 3 3 323 2 2 1	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$604.00 \$6,540.00	\$11,800.00 \$14,800.00 \$14,800.00 \$8,580.00 \$4,950.00 \$14,385.00 \$27,915.00 \$20,026.00 \$1,208.00 \$1,208.00 \$6,540.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$4,500.00	\$6,000.00 \$12,000.00 \$9,075.00 \$9,000.00 \$22,500.00 \$40,575.00 \$1,800.00 \$1,800.00 \$4,500.00
18 19 JBTOTAL 20 21 22 JBTOTAL WATER 23 24 25	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02511 COH-02506 COH-02506	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TXDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet ITEMS 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch by 22.5 degree bends	LF EA EA LF EA EA	33 1 3 3 323 2 2	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$604.00	\$11,800.00 \$14,800.00 \$14,800.00 \$4,850.00 \$4,950.00 \$14,385.00 \$27,915.00 \$20,026.00 \$1,208.00 \$1,208.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$900.00	\$6,000.00 \$12,000.00 \$9,007.00 \$9,000.00 \$22,500.00 \$40,575.00 \$43,605.00 \$1,800.00
18 19 JBTOTAL 20 21 22 JBTOTAL WATER 23 24 25 26 27	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02501 COH-02506 COH-02506 COH-02523 COH-02520	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch by 22.5 degree bends 12-inch gate valve and box 12-inch backflow preventer Fire hydrant assembly, all depths, including 6-inch diameter gate valve and box	LF EA EA EA EA EA EA EA EA	33 1 3 3 323 2 2 1 1	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$6,540.00 \$6,540.00 \$12,595.00	\$11,800.00 \$14,800.00 \$14,800.00 \$4,850.00 \$14,385.00 \$27,915.00 \$20,026.00 \$1,208.00 \$6,540.00 \$6,020.00 \$12,595.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$4,500.00 \$6,500.00 \$10,000.00	\$6,000.00 \$12,000.00 \$9,075.00 \$9,000.00 \$22,500.00 \$40,575.00 \$1,800.00 \$1,800.00 \$4,500.00 \$6,500.00 \$10,000.00
18 19 JBTOTAI 20 21 22 JBTOTAI WATER 23 24 25 26 27 28	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02501 COH-02506 COH-02506 COH-02503	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24") TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet ITEMS 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch by 22.5 degree bends 12-inch gate valve and box 12-inch backflow preventer Fire hydrant assembly, all depths, including 6-inch diameter gate valve and box 12-inch diameter wet connection	LF EA EA EA EA EA EA EA	33 1 3 3 323 2 2 1 1	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$6,540.00 \$6,540.00	\$11,800.00 \$14,800.00 \$14,800.00 \$4,950.00 \$14,385.00 \$27,915.00 \$20,026.00 \$1,208.00 \$6,540.00 \$6,020.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$4,500.00 \$6,500.00	\$6,000.00 \$12,000.00 \$9,075.00 \$9,000.00 \$22,500.00 \$40,575.00 \$1,800.00 \$1,800.00 \$4,500.00 \$6,500.00
18 19 19BTOTAL 20 21 22 2BTOTAL 23 24 25 26 27 28 29	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02510 COH-02506 COH-02506 COH-02523 COH-02520 COH-02520 COH-02513	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet ITEMS 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch by 22.5 degree bends 12-inch gate valve and box 12-inch backflow preventer Fire hydrant assembly, all depths, including 6-inch diameter gate valve and box 12-inch diameter wet connection	LF EA EA EA EA EA EA EA EA EA	33 1 3 323 2 1 1 1	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$6,540.00 \$6,020.00 \$12,595.00 \$10,540.00	\$11,800.00 \$14,800.00 \$14,800.00 \$4,950.00 \$14,385.00 \$27,915.00 \$1,208.00 \$1,208.00 \$6,620.00 \$12,595.00 \$21,080.00 \$6,677.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$4,500.00 \$6,500.00 \$10,000.00 \$5,500.00	\$6,000.00 \$12,000.00 \$9,075.00 \$9,000.00 \$22,500.00 \$40,575.00 \$1,800.00 \$1,800.00 \$4,500.00 \$10,000.00 \$11,000.00 \$79,205.00
18 19 19BTOTAL 20 21 22 2BTOTAL 23 24 25 26 27 28 29	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02506 COH-02506 COH-02503 COH-02520 COH-02513 WATER LINE LO	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet ITEMS 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch by 22.5 degree bends 12-inch gate valve and box 12-inch backflow preventer Fire hydrant assembly, all depths, including 6-inch diameter gate valve and box 12-inch diameter wet connection	LF EA EA EA EA EA EA EA EA	33 1 3 3 323 2 2 1 1	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$6,540.00 \$6,540.00 \$12,595.00	\$11,800.00 \$14,800.00 \$14,800.00 \$4,950.00 \$14,385.00 \$27,915.00 \$1,208.00 \$1,208.00 \$6,540.00 \$6,020.00 \$12,595.00 \$21,080.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$4,500.00 \$6,500.00 \$10,000.00	\$6,000.00 \$12,000.00 \$12,000.00 \$9,000.00 \$22,500.00 \$40,575.00 \$1,800.00 \$1,800.00 \$4,500.00 \$10,000.00
18 19 19 18 17 19 18 19 18 19 19 19 19 19 19 19 19 19 19 19 19 19	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02506 COH-02506 COH-02503 COH-02523 COH-02520 COH-02513 WATER LINE LO	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24*) TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch by 22.5 degree bends 12-inch gate valve and box 12-inch backflow preventer Fire hydrant assembly, all depths, including 6-inch diameter gate valve and box 12-inch diameter wet connection ICATION ITEMS	LF EA EA EA EA EA EA EA EA EA	33 1 3 323 2 1 1 1	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$6,540.00 \$6,020.00 \$12,595.00 \$10,540.00	\$11,800.00 \$14,800.00 \$14,800.00 \$4,950.00 \$14,385.00 \$27,915.00 \$1,208.00 \$1,208.00 \$6,620.00 \$12,595.00 \$21,080.00 \$6,677.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$4,500.00 \$6,500.00 \$10,000.00 \$5,500.00	\$6,000.00 \$12,000.00 \$9,075.00 \$9,000.00 \$22,500.00 \$40,575.00 \$1,800.00 \$1,800.00 \$4,500.00 \$10,000.00 \$11,000.00
18 19 19 19 10 10 10 10 10 10 10 10 10 10 10 10 10	TXDOT 450 BRIDGE ITEMS SEWER 460 TXDOT 465-6017 472 STORM SEWER LINE LOCATION COH-02501 COH-02506 COH-02503 COH-02523 COH-02523 COH-02523 WATER LINE LOCATION LINE LOCATION LINE LOCATION LINE LOCATION COH-02503	Pedestrian Railing (Type A) Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24") TxDOT INLET (COMPL)(PCO)(4FT)(NONE) Type C Inlet 12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction 12-inch by 45 degree bends 12-inch by 45 degree bends 12-inch gate valve and box 12-inch backflow preventer Fire hydrant assembly, all depths, including 6-inch diameter gate valve and box 12-inch diameter wet connection CATION ITEMS 18-inch SDR 26 Sanitary Sewer	LF LF EA EA EA EA EA EA EA EA EA	33 1 3 3 2 2 1 1 1 1 2	\$295.00 \$260.00 \$4,950.00 \$4,795.00 \$62.00 \$604.00 \$6,020.00 \$12,595.00 \$10,540.00	\$11,800.00 \$14,800.00 \$14,800.00 \$4,950.00 \$14,385.00 \$27,915.00 \$20,026.00 \$1,208.00 \$6,540.00 \$6,020.00 \$21,080.00 \$6,020.00 \$21,080.00 \$86,677.00	\$150.00 \$275.00 \$9,000.00 \$7,500.00 \$135.00 \$900.00 \$900.00 \$4,500.00 \$6,500.00 \$5,500.00	\$6,000.00 \$12,000.00 \$12,000.00 \$9,000.00 \$22,500.00 \$40,575.00 \$1,800.00 \$1,800.00 \$4,500.00 \$10,000.00 \$11,000.00 \$79,205.00

					Teamwork Cons	struction Services, Inc.	Wilson Building Services, Inc.		
Item No.	Spec. No.	Item Description	Unit of Measure	Estimated Quantity	Unit Price	Total Price	Unit Price	Total in Figures	
TD4551									
. I KAFFI	665	Work Zone Pvmt Mkgs - Remov (W) 4" (BRK)	LF	897	\$2.00	\$1.794.00	\$2.00	\$1,794.00	
35	665	Work Zone Pymt Mkgs - Remov (W) 4" (BRK) Work Zone Pymt Mkgs - Remov (W) 8" (BRK)	LF	160	\$4.00	\$640.00	\$3.00	\$480.00	
36	671	Traffic Control - Barricades, Barriers, Barrels, Cones, and Signing	MO	4	\$1,785.00	\$7,140.00	\$6,000.00	\$24,000.00	
37	674	Removing Pavement Striping and Markings - Longitudinal Markings	LF	1,743	\$1.50	\$2,614.50	\$2.00	\$3,486.00	
38	674	Removing Pavement Striping and Markings - Words, Arrows, and Symbols	EA	5	\$65.00	\$325.00	\$100.00	\$500.00	
39	696	Low Profile Concrete Barrier (Furnish, Install, and Removal)	LF	920	\$80.00	\$73,600.00	\$105.00	\$96,600.00	
	TRAFFIC CONTI			320	ψου.υυ	\$86,113.50	ψ100.00	\$126,860.00	
						400,110,00		ψ.20,000.00	
	AND STRIPING			•			, ,		
40	624	Aluminum Signs	EA	2	\$875.00	\$1,750.00	\$850.00	\$1,700.00	
41	660	Reflectorized Pavement Markings - Type I (4") (WHITE) (DASHED)	LF	480	\$1.00	\$480.00	\$2.00	\$960.00	
42	660	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	LF	549	\$2.50	\$1,372.50	\$3.00	\$1,647.00	
43	660	Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied	LF	551	\$4.00	\$2,204.00	\$7.00	\$3,857.00	
44	660	Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied	LF	114	\$8.00	\$912.00	\$14.00	\$1,596.00	
45	660	Reflectorized Pavement Markings Type I (Thermoplastic) Word "ONLY" - Furnish & Applied	EA	4	\$235.00	\$940.00	\$325.00	\$1,300.00	
46	660	Reflectorized Pavement Markings Type I (Thermoplastic) Single Arrow-	EA	4	\$205.00	\$820.00	\$325.00	\$1,300.00	
47	663	RIGHT - Furnish & Applied Reflectorized Pavement Markers - Type 1-C	EA	32	\$6.00	\$192.00	\$9.00	\$288.00	
	SIGNING AND S		LA.	Ü2	ψ0.00	\$8,670.50	ψ3.00	\$12,648.00	
TRAFFIC									
48	TxDOT618-6046	Conduit (PVC) (SCH 80) (2")	LF	50	\$28.00	\$1,400.00	\$20.00	\$1,000.00	
49	TxDOT618-6047	Conduit (PVC) (SCH 80) (2") BORE	LF	70	\$36.00	\$2,520.00	\$25.00	\$1,750.00	
50	TxDOT618-6053	Conduit (PVC) (SCH 80) (3")	LF	150	\$29.00	\$4,350.00	\$20.00	\$3,000.00	
51	TxDOT618-6054	Conduit (PVC) (SCH 80) (3") BORE	LF	170	\$39.00	\$6,630.00	\$30.00	\$5,100.00	
52	TxDOT620-6009	Elec Condr (NO.6) Bare	LF	820	\$2.75	\$2,255.00	\$2.75	\$2,255.00	
53	TxDOT620-6011	Elec Condr (NO.4) Bare	LF	115	\$3.25	\$373.75	\$3.00	\$345.00	
54	TxDOT620-6012	Elec Condr (NO.4) INSULATED	LF	230	\$3.75	\$862.50	\$3.25	\$747.50	
55	TxDOT621-6005	Tray Cable (4 CONDR)(12 AWG)	LF	645	\$4.00	\$2,580.00	\$3.00	\$1,935.00	
56	TxDOT624-6010	Groundbox TY D (162922) W/ Apron	EA	2	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00	
57	TxDOT624-6028	Remove Ground Box	EA	2	\$875.00	\$1,750.00	\$300.00	\$600.00	
58	TxDOT628-6001	Relocate Electrical Services	EA	3	\$5,500.00	\$16,500.00	\$5,500.00	\$16,500.00	
59	TxDOT682-6018	Pedestrian Signal Head (LED Count Down)	EA	4	\$950.00	\$3,800.00	\$900.00	\$3,600.00	
60	TxDOT684-6007	Traffic Signal Cable (TY A) (12 AWG) (2 CONDR)	LF	900	\$3.75	\$3,375.00	\$2.50	\$2,250.00	
61	TxDOT684-6009	Traffic Signal Cable (TY A) (12 AWG) (4 CONDR)	LF	900	\$4.00	\$3,600.00	\$3.00	\$2,700.00	
62	TxDOT684-6012	Traffic Signal Cable (TY A) (12 AWG) (7 CONDR)	LF	770	\$4.25	\$3,272.50	\$4.00	\$3,080.00	
63	TxDOT684-6049	Traffic Signal Cable (TY A) (16 AWG) (3 CONDR)	LF	570	\$3.75	\$2,137.50	\$2.00	\$1,140.00	
64	TxDOT687-6001	Pedestal Pole Assembly	EA	2	\$3,550.00	\$7,100.00	\$5,000.00	\$10,000.00	
65	TxDOT687-6005	Remove Ped Pole Assembly	EA	2	\$850.00	\$1,700.00	\$750.00	\$1,500.00	
66	TxDOT688-6001	Pedestrian Signal Head (Pedestrian Pushbutton Hardware)(Furnish and	EA	4	\$1,600.00	\$6,400.00	\$1,200.00	\$4,800.00	
67	TxDOT6306-	VIVIDS Cabling (Relocate)	LF	570	\$6.00	\$3,420.00	\$3.00	\$1,710.00	
JBTOTAL	6016 TRAFFIC SIGNA	3, ,				\$79,026.25		\$68,012.50	
								,.	
		ON PREVENTION	61/	1 220	\$12.00	£14 740 00	\$5.00	PC 445 00	
68	160	Topsoil (4" Depth)	SY	1,229	\$12.00	\$14,748.00		\$6,145.00	
69	162	Sodding for Erosion Control (Various Widths)	SY	1,229	\$6.50	\$7,988.50	\$8.00	\$9,832.00	
	165	Hydro-Mulch Seeding	AC	0.25	\$10,000.00	\$2,500.00	\$8,000.00	\$2,000.00	
70		NOTICE OF INTENT (NOI)	EA	2	\$325.00	\$650.00	\$450.00	\$900.00	
71	700				000.00		450.00	4050 ()	
	700 719 719	Inlet Protection Barriers (Stage I) Inlet Protection Barriers (Stage II)	EA EA	5 5	\$60.00 \$60.00	\$300.00 \$300.00	\$50.00 \$50.00	\$250.00 \$250.00	

2 of 3

BID 25-055 Bid Date: 04/23/2025 for Fort Bend County

					Teamwork Con	struction Services, Inc.	Wilson Bui	ilding Services, Inc.
			Unit of	Estimated	Unit	Total Price	Unit	Total in Figures
Item No.	Spec. No.	Item Description	Measure	Quantity	Price	Total Frice	Price	Total III Figures

	Teamwork Construction Services, Inc.	Wilson Building Services, Inc.
A. SITE PREPARATION AND EXCAVATION	\$102,290.17	\$181,888.17
B. PAVEMENT	\$230,643.50	\$182,140.00
C. BRIDGE	\$14,800.00	\$12,000.00
D. STORM SEWER	\$27,915.00	\$40,575.00
E. WATER LINE LOCATION	\$68,677.00	\$79,205.00
F. SANITARY SEWER RELOCATION ITEMS	\$41,908.00	\$56,400.00
G. TRAFFIC CONTROL	\$86,113.50	\$126,860.00
H. SIGNING AND STRIPING ITEMS	\$8,670.50	\$12,648.00
I. TRAFFIC SIGNAL	\$79,026.25	\$68,012.50
J. STORM WATER POLLUTION PREVENTION	\$26,486.50	\$19,377.00
TOTAL BID PRICE (ITEM A THROUGH ITEM J)	\$686,530.42	\$779,105.67



COUNTY PURCHASING AGENT Fort Bend County, Texas



Brooke Lindemann Interim Purchasing Agent

Vendor Information

Office (281) 341-8640

Legal Company Name (top line of W9)	Teamwork Construction Services, Inc.								
Business Name (if different from legal name)									
Type of Business	✓ Corporation/LLC □ Partnership Age in Business? □ Sole Proprietor/Individual □ Tax Exempt 20 years								
Federal ID # or S.S. #	20-2643495 SAM.gov Unique Entity ID #								
SAM.gov CAGE / NCAGE									
Publicly Traded Business	× No Yes Ticker Symbol								
Remittance Address	16111 Hollister Street								
City/State/Zip	Houston, Texas 77066								
Physical Address	Same as above								
City/State/Zip									
Phone Number	281-991-7330								
E-mail	john4@teamworkconstruction.net								
Contact Person	John A. Greenwood								
Check all that apply to the company listed above and provide certification number.	DBE-Disadvantaged Business Enterprise SBE-Small Business Enterprise HUB-Texas Historically Underutilized Business WBE-Women's Business Enterprise Certification # Certification # Certification # Certification #								
Company's gross annual receipts	<\$500,000								
NAICs codes (Please enter all that apply)	Civil Construction Company								
Signature of Authorized Representative	John Summer								
Printed Name	John A Greenwood								
Title	Vice President								
Date	4-22-2025								



Fort Bend County, Texas Invitation for Bid



Construction of Bellaire Blvd Right Turn Lanes for Fort Bend County Mobility Bond Project No. 20313x BID 25-055

SUBMIT BIDS TO:

Fort Bend County Purchasing Department Travis Annex 301 Jackson, Suite 201 Richmond, TX 77469

Note: All correspondence must include the term "Purchasing Department" in address to assist in proper delivery

SUBMIT NO LATER THAN:

Tuesday, April 22, 2025 2:00 PM (Central)

LABEL ENVELOPE:

BID 25-055 Bellaire Blvd Right Turn Lanes

ALL BIDS MUST BE RECEIVED IN AND TIME/DATE STAMPED BY THE PURCHASING OFFICE OF FORT BEND COUNTY ON OR BEFORE THE SPECIFIED TIME/DATE STATED ABOVE.

BIDS RECEIVED AS REQUIRED WILL THEN BE OPENED AND PUBLICLY READ.

BIDS RECEIVED AFTER THE SPECIFIED TIME, WILL BE RETURNED UNOPENED.

Results will not be given by phone. Results will be provided to bidder in writing after Commissioners Court award. Requests for information must be in writing and directed to: LeAnn Cernoch

Senior Buyer

LeAnn.Cernoch@fortbendcountytx.gov

Vendor Responsibilities:

- Download and complete any addendums. (Addendums will be posted on the Fort Bend County website no Later than 48 hours prior to bid opening)
- > Submit response in accordance with requirements stated on the cover of this document.
- DO NOT submit responses via email or fax.

Prepared: 03/26/2025 Issued: 03/30/2025



28.0 ENTIRE AGREEMENT:

The Parties agree that this Contract contains all of the terms and conditions of the understanding of the parties relating to the subject matter hereof. All prior negotiations, discussions, correspondence and preliminary understandings between the parties and others relating hereto are superseded by this Contract. By entering into this Contract, the parties do not intend to create any obligations, express or implied, other than those specifically set out in this Contract.

29.0 APPLICABLE LAW & VENUE

This Contract shall be construed under and in accord with the laws of the State of Texas, and all obligations of the parties created hereunder are performable in Fort Bend County, Texas, and that venue for any litigation arising out of or related to this Contract shall lie solely in the court of appropriate jurisdiction located in Fort Bend County, Texas.

30.0 ENCLOSURE:

The following being incorporated herein by reference for all purposes as though fully set forth herein word for word.

Enclosure #1 – Specifications and Plans

31.0 PRICING:

Vendors are required to obtain and complete the Excel Bid Pricing Form on the Fort Bend County website and return to Purchasing as stated in Section 1.4 and 1.5.

32.0 PROJECT DURATION:

Bidder agrees, if awarded the contract, to complete all work required by the contract documents within <u>120</u> calendar days (maximum 120 days) after issuance of a purchase order by the County Purchasing Agent and notice to proceed by the Engineering Department.

33.0 AWARD:

This contract will be awarded to the overall lowest and best bid.

34.0 TEXAS ETHICS COMMISSION FORM 1295:

34.1 Effective January 1, 2016 all contracts executed by Commissioners Court, regardless of the dollar amount, will require completion of Form 1295 "Certificate of Interested Parties", per the new Government Code Statute §2252.908. All vendors submitting a response to a formal Bid, RFP, SOQ or any contracts, contract amendments, renewals or change orders are required to complete the Form 1295 online through the State of Texas Ethics Commission website. Please visit: https://www.ethics.state.tx.us/filinginfo/1295/



COUNTY PURCHASING AGENT

Fort Bend County, Texas



(281) 341-8640 Fax (281) 341-8645

April 17, 2025

TO: All Prospective Bidders

RE: Addendum No. 1 – Fort Bend County BID 25-055 – Construction of Bellaire Blvd Right Turn Lanes for Fort Bend County Mobility Bond Project No. 20313x

Addendum 1:

Attached is addendum 1. Vendors are to utilize Addendum 1 documents while preparing their solicitation response. Changes include Q&A #1 and revised plans which include added pages 11, 23-28, and 65-77 provided by engineer.

Immediately upon your receipt of this addendum, please fill out the following information and email this page to LeAnn Cernoch at leann.cernoch@fortbendcountytx.gov

TEAMWORK CONSTRUCTION SERVICES, INC.

Signature of person receiving addendum

4-21-2025

If you have any questions, please contact this office.

Sincerely,

LeAnn Cernoch

LeAnn Cernoch

Senior Buyer

Contract Sheet Bid 25-055

THE STATE OF TEXAS COUNTY OF FORT BEND

This memorandum of agreement made and	d entered into on	the _13	day of	May	_, 20 <u>_</u> 25,
by and between Fort Bend County in the	State of Texas	(hereinafter	designated	County), actin	ig herein by
County Judge KP George, by virtue of	of an order of	Fort Bend	County	Commissioners	Court, and
Teamwork Construction Services, =	Tre.	(hereinafter	designated	Contractor).	
(company name)					
WITNESSETH:					
The Contractor and the County agree that th	e bid and specific	ations for the	e Construc	ction of Bellaire	Blvd Right
Turn Lanes for Fort Bend County Mobility	y Bond Project N	o. 20313x w	hich are he	reto attached and	i made a part
hereof, together with this instrument and the	bond (when requ	ired) shall co	onstitute the	full agreement	and contract
between parties and for furnishing the items	set out and describ	ed; the Cour	nty agrees t	o pay the prices	stipulated in
the accepted bid.					
It is further agreed that this contract shall no	ot become binding	or effective	until signe	d by the parties	hereto and a
purchase order authorizing the items desired l	nas been issued.				
Executed at Richmond, Texas this13	day of	May		2	20_25
				Fort Bend Co	ounty, Texas
ř	By: KPGP	079L			
·	y. <u>((19</u> 10)			County Judge	, KP George
E	By: Johnand	· · ·	5	Signature o	f Contractor
E	By: John A. C	Greenwood	1. Vice-F		
				Printed Na	me and Title

Form W-9

(Rev. December 2014)
Department of the Treasury
Internal Revenue Service

Request for Taxpayer Identification Number and Certification



	1 N	ame (as shown or	your income to	ax return).				200000000000000000000000000000000000000													
	2 D	usiness name/dis	rogarded entity	name if d	Tean			onstri	uctic	on Se	ervice	es, In	IC.								
ge 2.	2 8	uənness name/dis	egarueu enilty	name, ii d	merent irom	i above															
Print or type Specific Instructions on page	3 C	heck appropriate Individual/sole pr single-member L Limited liability c	roprietor or LC	√ C (Corporation		S Corp	poration		Partner	ship		Γrust/€	estate	cert	xempt ain en ruction mpt pa	tities, ns on	not i page	individ 3):	dúals;	
Print or type		Note. For a single the tax classifica				lo not ch	heck LL	_C; chec	ck the a	ppropri	ate box	in the lir	ne abo	ve for		mptio		r FAT	ΓCA r	eporti	ng
P i		Other (see instru	ctions) >												(App	lies to ac	counts i	maintai	ined out	side the	e U.S.)
_ ij	5 Ac	dress (number, s	treet, and apt. o	r suite no.	.)							Requ	ester's	s name	and a	ddres	s (opti	ional))		
bed		16111 Holli	ster Street	t																	
See S	ports over	ity, state, and ZIP										7									
S		łouston, Te																			
	7 Li	ist account numbe	er(s) here (optio	nal)																	
Par		Taypayo	r Identific	ation N	lumbor (/TINI\		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,													
THE RESERVED IN	CARS CONT.	TIN in the appre	WHILE TO SEE THE WAS A SECOND CONTROL OF THE CONTRO	A LUNCO DE LOCATION DE LA CONTRACTION DEL CONTRACTION DE LA CONTRA	AVERSON PROPERTY.		toh tho	nomo	givon	on line	1 +0 0	uoid	Sc	ncial s	ecurity	/ num	her				
backı reside	ip wit ent ali es, it i	thholding. For in en, sole proprie s your employe	dividuals, this	s is gener arded ent	rally your s tity, see the	social s e Part l	security Linstru	y numb uctions	er (SS on pa	N). Ho	wever, or other	for a er	or			-		-[
		e account is in r	nore than one	name s	ee the inst	truction	ns for li	ine 1 ar	nd the	chart i	on nad	e 4 for	_	nploy	er iden	tificat	ion n	umb	er		
		on whose numb		marrio, o	oo trio mot	adadioi	110 101 111	ino i ai	na the	Orial C	on pag	C + 101				T		$\overline{\Box}$		$\overline{\Box}$	_
													2	0	- 2	6	4	3	4	9	5
Par	t II	Certifica	ition																		
Unde	r pena	alties of perjury	I certify that:																		
1. Th	e nur	nber shown on	this form is m	y correct	t taxpayer i	identifi	ication	numbe	er (or I	am wa	aiting fo	or a nun	nber	to be	issued	d to m	ne); a	nd			
Se	rvice	t subject to bac (IRS) that I am s er subject to ba	subject to bac	ckup with	holding as																
3. I a	m a l	J.S. citizen or of	ther U.S. pers	on (defin	ed below);	and															
4. The	FAT	CA code(s) ente	ered on this fo	orm (if an	y) indicatin	ng that	I am ex	xempt	from F	ATCA	reporti	ing is co	orrec	t.							
becau intere gener instru	st pai ally, p ctions	on instructions on have failed to id, acquisition coayments other son page 3.	report all int r abandonme	erest and ent of sec	dividends ured prope	s on yo erty, ca	our tax r ancellat	return.	For redebt,	al esta contrib	ite tran	saction to an ir	s, ite	m 2 d Iual re	oes ne	ot app ent ar	oly. F	or m	nortg nt (IF	age (A), a	and
Sign	•	Signature of U.S. person ▶	Johna	Su	*********	8						Date ▶ ∠	1/22	2/20	25						

General Instructions

Section references are to the Internal Revenue Code unless otherwise noted.

Future developments. Information about developments affecting Form W-9 (such as legislation enacted after we release it) is at www.irs.gov/fw9.

Purpose of Form

An individual or entity (Form W-9 requester) who is required to file an information return with the IRS must obtain your correct taxpayer identification number (TIN) which may be your social security number (SSN), individual taxpayer identification number (ITIN), adoption taxpayer identification number (ATIN), or employer identification number (EIN), to report on an information return the amount paid to you, or other amount reportable on an information return. Examples of information returns include, but are not limited to, the following:

- Form 1099-INT (interest earned or paid)
- Form 1099-DIV (dividends, including those from stocks or mutual funds)
- Form 1099-MISC (various types of income, prizes, awards, or gross proceeds)
- Form 1099-B (stock or mutual fund sales and certain other transactions by brokers)
- Form 1099-S (proceeds from real estate transactions)
- Form 1099-K (merchant card and third party network transactions)

- Form 1098 (home mortgage interest), 1098-E (student loan interest), 1098-T (tuition)
- Form 1099-C (canceled debt)
- Form 1099-A (acquisition or abandonment of secured property)

Use Form W-9 only if you are a U.S. person (including a resident alien), to provide your correct TIN.

If you do not return Form W-9 to the requester with a TIN, you might be subject to backup withholding. See What is backup withholding? on page 2.

By signing the filled-out form, you:

- 1. Certify that the TIN you are giving is correct (or you are waiting for a number to be issued),
 - 2. Certify that you are not subject to backup withholding, or
- 3. Claim exemption from backup withholding if you are a U.S. exempt payee. If applicable, you are also certifying that as a U.S. person, your allocable share of any partnership income from a U.S. trade or business is not subject to the withholding tax on foreign partners' share of effectively connected income, and
- 4. Certify that FATCA code(s) entered on this form (if any) indicating that you are exempt from the FATCA reporting, is correct. See *What is FATCA reporting?* on page 2 for further information.

Job No.: 25-055

TAX FORM/DEBT/ RESIDENCE CERTIFICATION (for Advertised Projects)

Projects) DRIGINAL

Тахра	ayer Ide	entification Number (T.I.N.):	20-2643495
			Teamwork Construction Services, Inc.
			eet, Houston, Texas 77066
		stered to do business in the S	
		individual, list the names and ne(s) under which you operate	d addresses of any partnership of which you are a general partner or any e your business
I.	nam		ty in Fort Bend County owned by you or above partnerships as well as any d/b/a property as well as mineral interest accounts. (Use a second sheet of paper if
Fort E	Bend Co	ounty Tax Acct. No.*	Property address or location** None
** Fo	or real dress v	property, specify the prope	on number assigned by the Fort Bend County Appraisal District. rty address or legal description. For business personal property, specify the . For example, office equipment will normally be at your office, but inventory location.
II.		Bend County Debt - Do yo ets, fines, tolls, court judgmen	a owe any debts to Fort Bend County (taxes on properties listed in I above, ts, etc.)?
	,	Yes ✓ No If yes, at	each a separate page explaining the debt.
III.	requ	ests Residence Certification.	ant to Texas Government Code §2252.001 <i>et seq.</i> , as amended, Fort Bend County §2252.001 <i>et seq.</i> of the Government Code provides some restrictions on the sex; pertinent provisions of §2252.001 are stated below:
	(3)	"Nonresident bidder" refers	to a person who is not a resident.
	(4)		a person whose principal place of business is in this state, including a parent company or majority owner has its principal place of business in
		I certify that Teamwork Constru [Compare] §2252.001.	ction Services, Inc. is a Resident Bidder of Texas as defined in Government Code by Name]
			is a Nonresident Bidder as defined in Government Code Name] place of business is
Created	05/12		[City and State]

John Demming





Contractor Acknowledgement of Storm Water Management Program

I hereby acknowledge that I am aware of the stormwater management program and standard operating procedures developed by Fort Bend County in compliance with the TPDES General Permit No. TXR040000. I agree to comply with all applicable best management practices and standard operating procedures while conducting my services for Fort Bend County. I agree to conduct all services in a manner that does not introduce illicit discharges of pollutants to streets, stormwater inlets, drainage ditches or any portion of the drainage system. The following materials and/or pollutant sources must not be discharged to the drainage system as a result of any services provided:

- 1. Grass clippings, leaves, mulch, rocks, sand, dirt or other waste materials resulting from landscaping activities, (except those materials resulting from ditch mowing or maintenance activities)
- 2. Herbicides, pesticides and/or fertilizers, (except those intended for aquatic use)
- 3. Detergents, fuels, solvents, oils and/or lubricants, other equipment and/or vehicle fluids,
- 4. Other hazardous materials including paints, thinners, chemicals or related waste materials,
- 5. Uncontrolled dewatering discharges, equipment and/or vehicle wash waters,
- 6. Sanitary waste, trash, debris, or other waste products

Teamwork Construction Services, Inc.

7. Wastewater from wet saw machinery,

Title

8. Other pollutants that degrade water quality or pose a threat to human health or the environment.

Furthermore, I agree to notify Fort Bend County immediately of any issue caused by or identified by:

(Company/Contractor)	
that is believed to be an immediate threat to human health	or the environment.
Al a Summer	4-22-2025
Contractor Signature	Date
John A Greenwood	
Printed Name	
Vice President	



16111 Hollister Street, Houston, Texas 77066 Office: 281-991-7330 Fax: 281-991-7340

References

While we welcome you to contact any one of the contacts on the enclosed list of projects, we are pleased to submit the following contacts as references. We have years if not decades of working history with a number of the contacts, owners, or firms listed below and a multitude of successful projects.

- City of Baytown
 Mr. Kevin Harvill, Assistant Director of Public Works
 2123 Market St
 Baytown, TX 77522
 281-420-5300
 kevin.harvill@baytown.org
- Harris County Engineering Department
 Mr. Gary W. Howard, Manager of Special Projects
 1111 Fannin St, 12th Floor
 Houston, TX 77002
 713-274-1566
 gary.howard@harriscountytx.gov
- Quiddity Engineering, Inc.
 Mr. Matt Kainer, PE, Senior Project Manager
 6330 West Loop South, Suite 150
 Bellaire, TX 77401
 713-777-5337
 mkainer@quiddity.com
- 4. Southwest Signal Supply, Inc. Mrs. Roxanne Nash, President 1107 Jackson St South Houston, TX 77587 713-946-7162 rnash@swsignal.net
- Cobb, Fendley & Associates
 Mr. Steve Byington, PE, Department Manager
 13430 Northwest Freeway, Suite 1100
 Houston, TX 77040
 713-462-3242
 sbyington@cobbfendley.com



16111 Hollister Street, Houston, Texas 77066 Office: 281-991-7330 Fax: 281-991-7340

6. Pfeiffer & Son, Ltd. Mr. Charles L. Pfeiffer, Partner 116 N 16th St La Porte, TX 77571 281-471-4222 charlie@pfeifferandson.com

ARKK Engineers, LLC
 Mr. Madhu Kilambi, PE, Senior Project Manager/Principal
 7322 Southwest Freeway, Suite 1040
 Houston, TX 77074
 713-824-4308
 madhu.kilambi@arkkengineers.com

8. Montgomery County
Mr. Andrew DuBois, Manager of Precinct Projects
1130 Pruitt Rd
Spring, TX 77380
936-522-9300
andrew.dubois@mctx.org

9. IDS Engineering Group Mr. Tim Buscha, PE, CFM, President 13430 Northwest Freeway, Suite 700 Houston, TX 77040 713-462-3178 tbuscha@idseg.com

City of Webster
 Mr. David Glasco, Manager, Engineering/Construction 855
 Magnolia Ave
 Webster, TX 77598
 281-316-4139
 dglasco@cityofwebster.com



COMPLETED & IN PROGRESS PROJECT LIST

PROJECT NAME	CONTRACT VALUE	OWNER	Engineer	DESCRIPTION OF WORK
Baytown Annual Concrete Work Contract	\$ 2,500,000,00	City of Baytown	City of Baytown	Replacement of Concrete Streets, Sidewalks, Curb & Gutter, and Drainage Work (renewed multiple years)
League City Annual Maintenance Contract	\$ 1,500,000.00	City of League City	City of League City	Replacement of Concrete Streets, Sidewalks, Curb & Gutter, and Drainage Work (renewed multiple years)
Harris County Traffic Signal Installation	\$ 1,250,000.00	Harris County	Harris County Engineering Dept.	Subcontractor for Southwest Signal Supply, Inc. (multiple years)
City of La Marque Sidewalk Project	\$ 226,810.29	City of La Marque	The Goodman Corporation	Installed Sidewalks in various locations for the City of La Marque
Harris County Precinct 4 Maintenance Contract	\$ 1,000,000.00	Harris County	Harris County Engineering Dept.	Replacement of Concrete Streets, Sidewalks, and Drainage Work in Harris County Precinct 4
Jesse H. Jones Park Boat Ramp	\$ 241,888.00	Harris County	Harris County Engineering Dept.	Installation of a boat ramp in the Jesse H. Jones Park on Spring Creek
Harris County Precinct 1 Maintenance Contract	\$ 1,000,000,00	Harris County	Harris County Engineering Dept.	Replacement of Concrete Streets, Sidewalks, and Drainage Work in Harris County Precinct 1 (renewed multiple years)
Cinco Ranch Pedestrian Improvements	\$ 202,485.50	Fort Bend County	EPIC Transportation Group	Installation of Sidewalks and ADA Ramps along Cinco Ranch Blvd.
Voss Road Pavement Rehabilitation	\$ 187,801.00	City of Hunters Creek Village	Cobb, Fendley & Associates	Pavement Panel Replacement on Voss Road
West Rayford Sidewalk Project	\$ 122,090.30	Oakmont Public Utility District	Jones & Carter, Inc.	Installation of Sidewalks and ADA Ramps along West Rayford Road in Spring. Texas
City of Webster Sidewalk Project	\$ 175,463.00	City of Webster	LJA Engineering, Inc.	Installation of Sidewalks and ADA Ramps in various locations in Webster, Texas
Baytown Sidewalk Improvements	\$ 736,426.11	City of Baytown	City of Baytown Engineering Dept.	Installation of Sidewalks and ADA Ramps in various locations in Baytown, Texas
oss Road Pavement Rehabilitation - 2nd Package	\$ 272,618,67	City of Hunters Creek Village	Cobb, Fendley & Associates	Pavement Panel Replacement on Voss Road
Richmond Avenue Sidewalk Project	\$ 258,308,96	TIRZ No. 1	Clark Condon	Installation of Sidewalks and ADA Ramps along Richmond Avenue
Springwoods Village Pedestrian Trail	\$ 82,490,77	HCID No. 18	Jones & Carter, Inc.	Installation of a colored concrete walking trail in Springwoods Village
Greenbriar Sidewalk Project	\$ 161,190.36	City of Friendswood	City of Friendswood Engineering Dept.	Installation of Sidewalks and ADA Ramps along Greenbriar in Friendswood, Texas
Augusta Pines Sidewalk Project	\$ 748,939.23	NW Harris County MUD No. 19	R.G. Miller Engineers, Inc.	Installation of Sidewalks and ADA Ramps in Various Locations in Augusta Pines Subdivision
Gleannloch Forest Drive	\$ 240,281,94	Harris County	Costello, Inc.	Buildout of Gleannloch Forest Drive for Harris County Precinct 4
Mason Creek Undercrossing	\$ 437,733,42	Harris County	EHRA	Installation of a Pedestrian Undercrossing under Mason Road for Harris County Precinct 3
Montgomery County Turn Lane Widening	\$ 197,233,63	Montgomery County	Montgomery County Engineering Dept.	Widening of Various Turn Lanes in The Woodlands for Montgomery County
Cullen Boulevard (Segment A)	\$ 4,693,264.00	Harris County	Aguirre & Fields, LP	Cullen Boulevard Reconstruction from North MacGregor Way to South of Wheeler Avenue
Bay Street Shared Use Path	\$ 395,824,68	City of Texas City	ARKK Engineers, LLC	Installation of a Shared Use Path along Bay Street
Clear Lake Road Parking Lot	\$ 227,748.20	City of Clear Lake Shores	Cobb, Fendley & Associates	Construction of a Parking Lot in City of Clear Lake Shores
Montgomery County SH 242	\$ 277,920.32	Montgomery County	Montgomery County Engineering Dept.	Intersection Improvements, Traffic Signal Modifications and Lane Widening along SH 242
League City Fire Station 6 Turn Lane	\$ 403,369.50	City of League City	Kimley Horn	Turn Lane Addition and Traffic Signal Modification
Harris County Pedestrian Transit Project	\$ 717,775,05	Harris County	Kimley Horn	Multiple Intersection Pedestrian Improvement Project
	\$ 1,133,277,00	Harris County	RPS Group	Construction of Hike & Bike Trail with related Intersection Improvements
Aldine Western Road Street Dedicaiton	\$ 578,968.35	Harris County MUD No. 321 & 406	Brown & Gay, Inc.	Construction of 2 Lane Roadway, Water Line, and Drainage
	\$ 294,638.49	City of Deer Park	City of Deer Park Engineering Dept.	Construction of Sidewalk & ADA Ramps at Various Locations in Deer Park
	\$ 166,813.00	Harris County	Gradient	Construction of Hike & Bike Trail with related Intersection Improvements
	\$ 1,500,000,00	Harris County	Harris County Engineering Dept.	Construction of Sidewalk in Various Locations for Harris County Precinct 3
	S 568,703.90	Montgomery County	LJA Engineering, Inc.	Construction of Intersection Improvements
	S 158,845,00	City of Jacinto City	City of Jacinto City Public Works Dept.	Construction of Panel Replacement in Jacinto Oaks Subdivision
	\$ 210,203,02	Montgomery County	Montgomery County Engineering Dept.	Construction of Turn Lane Widening
	\$ 1,418,208,00	Harris County	Harris County Engineering Dept.	Construction of Hike & Bike Trail with Pedestrian Bridge & Custom Monument Signs
	\$ 4,115,299,92	City of Pearland	ATG & Kimley Horn	Construction of Various Traffic Improvements including Traffic Circle Redesign
Sleepy Hollow Reconstruction Project	\$ 1,878,574,00	City of Pearland	HDR Engineering, Inc.	Construction of Water Line, Sewer Line, and Street Replacement
	\$ 433,326.50	City of Sugar Land	Cobb, Fendley & Associates	Addition of 400' retaining wall and turn lane addition
	\$ 1,035,889.50	City of Houston	RPS Group	Construction of Hike & Bike Trail along Buffalo Bayou including installation of 12'x12' RCBs
	\$ 249,436,00	Harris County	Binkley & Barfield, Inc.	Intersection Improvements at Spring Cypress Road at US 290
	\$ 1,206,468.00	Harris County	LJA Engineering, Inc.	Construction of hike and bile trail on North and South side of Cypress Creek under SH 249
	\$ 565,773.00	City of Webster	IDS Engineering Group	Construction of Myrtle Avenue including water line and related items
		Memorial Heights Redevelopment Authority	Ouiddity Engineering, LLC	Construction of hike and bike trail and various intersection and ammenity improvements
	\$ 637,672.00	Harris County	R.G. Miller Engineers. Inc.	Various drainage improvements within the Northlake Forest Subdivision
	\$ 3,520,062.50	City of Katy	Huitt-Zollars, Inc.	Reconstruction of Fortuna Drive including draiange, water, and sewer utilities
Bellaire Blvd Crosswalk Replacement	\$ 816,555,00	SW Houston Redevelopment Authority	Cobb, Fendley & Associates	Removal and replacement of crosswalks along Bellaire Blvd
	\$ 304,314,00	City of Katy	ARKK Engineers, LLC	Remoyal and replacement of concrete pavement and inlets
Summerwood Sidewalk Phase 2	\$ 362,525,00	Harris County	McDonough	Construction of sidewalk along W Lake Houston Pkwy
Fondren Pedestrian Trail	\$ 899,507,00	Harris County	Traffic Engineers, Inc.	Construction of hike and bike trail along Fondren Diversion Channel
Katy-Ft Bend County Road Ext	\$ 4,705,252.25	Katy Development Authority	ARKK Engineers, LLC	Construction of Katy-Fort Bend Road Extension including utilities, landscaping and faux bridge
	\$ 313,339,50	Fort Bend County	Cobb. Fendley & Associates	Construction of right turn lane on W Bellfort at SH 99 including traffic signal modifications
	\$ 444,576,00	City of Sugar Land	EPIC Transportation Group	Installation of right and left turn lane and related work at SH6 and First Colony Blvd
	S 4,888,334,00	City of Texas City	ARKK Engineers, LLC	Reconstruction of various roadways in the Amburn Park and Freeway Park Subdivisions including water, sewer, and drai
Flyway Drive	\$ 2.719.658.25	City of Webster/Webster EDC	IDS Engineering Group	Construction of Flyway Drive including storm sewer, sanitary, water line, retaining wall and precast bridge



16111 Hollister Street, Houston, Texas 7706 Office: 281-991-7330 Fax: 281-991-7340



Teamwork Construction Services, Inc. 16111 Hollister Street Houston, Texas 77066

Re: Statement of Qualifications and References

To Whom It May Concern:

Teamwork Construction Services, Inc. is primarily a civil construction firm specializing in civil concrete placement, finish, drainage, and utility work. We offer our clients a complete range of construction services. Through sound leadership and the experience of our field supervision, and office personnel, Teamwork Construction Services, Inc. is dedicated to quality construction from project inception through final completion.

Teamwork Construction Services, Inc. is a privately held corporation based in Houston, Texas and serves the greater Houston area. Teamwork was incorporated in the State of Texas in March of 2005. The principal of the firm, John Greenwood, has experience of approximately 40 years in general construction and the civil construction industry in the Houston area. The organization was started by John, who is the acting management today. The firm employs highly experienced personnel and fosters a dedicated workforce with long tenure with the company and industry. Teamwork only employs the highest qualified sub-contractors when sub-contracting work. Teamwork considers itself a full-service civil firm and enjoys working with vendors and sub-contractors of high integrity.

We have a long history of providing exceptional service to municipal and governmental clients on these types of contracts; and pride ourselves in the partnership we like to provide to their personnel. Attached is a statement of qualifications and experience and current/past project summary. Any of the owners or engineers on the attached current/past project summary may be contacted for reference.

Please feel free to contact us anytime and we look forward to your consideration of this proposal.

Sincerely yours,

TEAMWORK CONSTRUCTION SERVICES, INC.

John A. Greenwood

Vice-President

Enclosure(s)

16111 Hollister Street, Houston, Texas 77066 Office: 281-991-7330 Fax: 281-991-7340

Statement of Qualifications and Experience

Experience: In reference to our current and completed projects list, we have successfully completed a wide range of projects similar to the one being bid. All projects were completed within their projected contract time. References for these projects, and others, can be found enclosed on the references page.

Timely Project Completion: Since 2005, we have never once exceeded contract time that resulted in payment of liquidated damages/economic disincentive. With over 65 qualified and highly skilled employees and dozens of pieces of equipment, many fewer than 5 years of age, Teamwork is well equipped to move in, complete a project in a safe and timely manner, and move out.

Project Management: Teamwork's owner and President, John Greenwood, has over 40 years of construction experience in the Greater Houston area. He personally oversees most projects at different stages and is a contact to both the Owner and Owner's representatives. Our project Manager, Billy Howk, who himself has over 35 years of experience in the construction industry, works more intimately with any one of our highly skilled superintendents or foremen that would manage the jobsite day to day and oversee the crew working. Our foremen each have, on average, 25 years of experience in the industry, and remain on the jobsite anytime the crew is onsite to ensure the project is being built per plans and specifications.

Proposed Subcontractors/Suppliers: Teamwork only employs the highest qualified sub-contractors when sub-contracting work. We also work to ensure that all vendors are properly vetted and endorsed by references. However, most of our suppliers and sub-contractors have a lengthy history of working with Teamwork.

Safety: Teamwork believes that its safety policies and records is one thing that can truly set us apart from the competition. During the last 5 years, we have had zero lost time incidents. That being said, since our beginning in March of 2005, we have never had a severe safety violation. Teamwork provides a safety rich culture. We employ a safety professional, Juan Razo, full time on staff. We truly make an investment in our workforce and believe that safety should always be top priority.

Claims History: We have never had any project of any sort gone to claim, litigation, mediation, or arbitration with the Owner or Owner's representative. We have also never failed to complete any project due to financial reasons, labor disputes, failure of employees to perform, or any other reason. We are proud of our history partnering and working with, rather against, the Owner/Owner's representative to complete the project on time, within budget, and have a finished product that everyone can be proud to have been a part of.

TE PREPARAT	TON AND EXCAVATI	ON ITEMS			Acres de la constante de la co	
Item No.	Spec. No.	Item Description	Unit of Measure	Unit Price	Estimated Quantity	Total Price
1	104	Removing Old Concrete (Sidewalk)	SY	\$24.00	196	\$4,704.00
2	104	Removing Old Concrete (Curb Ramp)	SY	\$24.00	26	\$624.00
3	104	Removing Old Concrete (Curb)	LF	\$4.00	923	\$3,692.00
4	110	Roadway Excavation	CY	\$34.00	2,355	\$80,070.0
5	495	Removing Old Structures – Inlets (All Depths)	EA	\$645.00	4	\$2,580.00
6	500	Remove & Relocate Traffic Signs, Mail Boxes and Roadway Signs	EA	\$955.00	2	\$1,910.00
7	540	Remove and Dispose Existing Asphaltic Surface and Base Material (All Depths)	SY	\$32.00	82	\$2,624.00
8	562	Prepare ROW	LS	\$5,650.00	1	\$5,650.00
9	TxDOT 7211-6106	CASH ALLOWANCE, Remove Ex. Light Stds/Poles	LS	\$436.17	1	\$436.17

B.PAVEMENT ITEMS

SUBTOTAL PAVEM	ENT ITEMS					\$230,643.50
17	530	ADA Ramp - Type 21	EA	\$3,750.00	2	\$7,500.00
16	530	ADA Ramp - Type 1	EA	\$3,650.00	1	\$3,650.00
15	530	ADA Ramp - Type 5	EA	\$3,950.00	2	\$7,900.00
14	530	Reinforced Concrete Sidewalks (4- 1/2")	SY	\$104.50	473	\$49,428.50
13	530	Concrete Curb and Gutter (Monolithic)	LF	\$22.00	880	\$19,360.00
12	433	Cement Stabilized Sand (8" thick)	SY	\$32.00	833	\$26,656.00
11	360	Concrete Pavement (14") Fast Track	SY	\$225.00	161	\$36,225.00
10	360	Concrete Pavement (8")	SY	\$116.00	689	\$79,924.00

C. BRIDGE ITEMS						
18	421	Structural Concrete (Concrete Collar)	CY	\$1,500.00	2	\$3,000.00
19	TxDOT 450	Pedestrian Railing (Type A)	LF	\$295.00	40	\$11,800.00
SUBTOTAL BRIDG	E ITEMS					\$14,800.0

TORM SEWER ITEMS		1			770371331111111111111111111111111111111	\$27,915.0
22	472	Type C Inlet	EA	\$4,795.00	3	\$14,385.00
21	TxDOT 465-6017	TxDOT INLET (COMPL)(PCO)(4FT)(NONE)	EA	\$4,950.00	1	\$4,950.00
20	460	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (24")	LF	\$260.00	33	\$8,580.00

23	COH-02511	12-Inch Diameter PVC C-900, DR18 Water Line by Trenchless Construction	LF	\$62.00	323	\$20,026.00
24	COH-02506	12-inch by 45 degree bends	EA	\$604.00	2	\$1,208.00
25	COH-02506	12-inch by 22.5 degree bends	EA	\$604.00	2	\$1,208.00
26	COH-02085	12-inch gate valve and box	EA	\$6,540.00	1	\$6,540.00
27	COH-02523	12-inch backflow preventer	EA	\$6,020.00	1	\$6,020.00

28	COH-02520	Fire hydrant assembly, all depths, including 6-inch diameter gate valve and box	EA	\$12,595.00	1	\$12,595.00
29	COH-02513	12-inch diameter wet connection	EA	\$10,540.00	2	\$21,080.00
SUBTOTAL WATE	R LINE RELOCATION	N ITEMS				\$68,677.00
l						
F.SANITARY SEW	T			Т Т		
30	COH-02531	18-inch SDR 26 Sanitary Sewer	LF	\$93.50	88	\$8,228.00
31	COH-02082	Precast Concrete Manhole with Cast-In-Place Base	EA	\$9,935.00	2	\$19,870.00
32	495	Remove and Dispose of Old Structures (Inlets, Manholes)	EA	\$9,890.00	1	\$9,890.00
33	COH-2222	Grout Fill and Abandon Exist 18" San Sewer	LF	\$49.00	80	\$3,920.00
SUBTOTAL SANIT	ARY SEWER RELOC	ATION ITEMS				\$41,908.00
G. TRAFFIC CONT	ROLITEMS	1				
34	665	Work Zone Pvmt Mkgs - Remov (W) 4" (BRK)	LF	\$2.00	897	\$1,794.00
35	665	Work Zone Pvmt Mkgs - Remov (W) 8" (BRK)	LF	\$4.00	160	\$640.00
36	671	Traffic Control - Barricades, Barriers, Barrels, Cones, and Signing	MO	\$1,785.00	4	\$7,140.00
37	674	Removing Pavement Striping and Markings - Longitudinal Markings	LF	\$1.50	1,743	\$2,614.50
38	674	Removing Pavement Striping and Markings - Words, Arrows, and Symbols	EA	\$65,00	5	\$325.00
39	696	Low Profile Concrete Barrier (Furnish, Install, and Removal)	LF	\$80.00	920	\$73,600,00
SUBTOTAL TRAF	FIC CONTROL ITEMS					\$86,113.50
H.SIGNING AND S						1
40	624	Aluminum Signs Reflectorized Pavement Markings	EA	\$875.00	2	\$1,750.00
41	660	- Type I (4") (WHITE) (DASHED)	LF	\$1,00	480	\$480.00
42	660	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	. LF	\$2.50	549	\$1,372.50
43	660	Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied	LF	\$4.00	551	\$2,204.00
44	660	Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied	LF	\$8.00	114	\$912.00
45	660	Reflectorized Pavement Markings Type I (Thermoplastic) Word "ONLY" - Furnish & Applied	EA	\$235.00	4	\$940.00
46	660	Reflectorized Pavement Markings Type I (Thermoplastic) Single Arrow-RIGHT - Furnish & Applied	EA	\$205.00	4	\$820.00
47	663	Reflectorized Pavement Markers - Type 1-C	EA	\$6.00	32	\$192,00
SUBTOTAL SIGNI	NG AND STRIPING IT					\$8,670.50
I.TRAFFIC SIGNA	L					
48	TxDOT618-6046	Conduit (PVC) (SCH 80) (2")	LF	\$28.00	50	\$1,400.00
49	TxDOT618-6047	Conduit (PVC) (SCH 80) (2") BORE	LF	\$36,00	70	\$2,520.00

OTAL TRA	FFIC SIGNAL ITEMS					\$79,
67	TxDOT6306-6016	VIVIDS Cabling (Relocate)	LF	\$6.00	570	\$3,420.0
66	TxDOT688-6001	Pedestrian Signal Head (Pedestrian Pushbutton Hardware)(Furnish and Install)	EA	\$1,600.00	4	\$6,400.0
65	TxDOT687-6005	Remove Ped Pole Assembly	EA	\$850,00	2	\$1,700.0
64	TxDOT687-6001	Pedestal Pole Assembly	EA	\$3,550.00	2	\$7,100.0
63	TxDOT684-6049	Traffic Signal Cable (TY A) (16 AWG) (3 CONDR)	LF	\$3.75	570	\$2,137.5
62	TxDOT684-6012	Traffic Signal Cable (TY A) (12 AWG) (7 CONDR)	LF	\$4.25	770	\$3,272.5
61	TxDOT684-6009	Traffic Signal Cable (TY A) (12 AWG) (4 CONDR)	LF	\$4.00	900	\$3,600.0
60	TxDOT684-6007	Traffic Signal Cable (TY A) (12 AWG) (2 CONDR)	LF	\$3.75	900	\$3,375.0
59	TxDOT682-6018	Pedestrian Signal Head (LED Count Down)	EA	\$950.00	4	\$3,800.0
58	TxDOT628-6001	Relocate Electrical Services	EA	\$5,500.00	3	\$16,500.
57	TxDOT624-6028	Remove Ground Box	EA	\$875.00	2	\$1,750.0
56	TxDOT624-6010	Groundbox TY D (162922) W/ Apron	EA	\$2,500.00	2	\$5,000.0
55	TxDOT621-6005	Tray Cable (4 CONDR)(12 AWG)	LF	\$4.00	645	\$2,580.0
54	TxDOT620-6012	Elec Condr (NO.4) INSULATED	LF	\$3.75	230	\$862.50
53	TxDOT620-6011	Elec Condr (NO.4) Bare	LF	\$3,25	115	\$373.75
52	TxDOT620-6009	Elec Condr (NO.6) Bare	LF	\$2.75	820	\$2,255.0
51	TxDOT618-6054	Conduit (PVC) (SCH 80) (3") BORE	LF	\$39.00	170	\$6,630.0
50	TxDOT618-6053	Conduit (PVC) (SCH 80) (3")	LF	\$29.00	150	\$4,350.0

68	160	Topsoil (4" Depth)	SY	\$12.00	1,229	\$14,748.00
69	162	Sodding for Erosion Control (Various Widths)	SY	\$6.50	1,229	\$7,988.50
70	165	Hydro-Mulch Seeding	AC	\$10,000.00	0,25	\$2,500.00
71	700	NOTICE OF INTENT (NOI)	EA	\$325.00	2	\$650,00
72	719	Inlet Protection Barriers (Stage I)	EA	\$60.00	5	\$300.00
73	719	Inlet Protection Barriers (Stage II)	EA	\$60.00	5	\$300,00

GRAND TOTAL	\$686,530.42

CERTIFICATE OF INTERESTED PARTIES

FORM **1295**

					1 of 1	
	Complete Nos. 1 - 4 and 6 if there are interested parties. Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.			OFFICE USE		
1		try of the business en	ntity's place	Certificate Number: 2025-1302925 Date Filed:		
2	Name of governmental entity or state agency that is a party to the being filed. Fort Bend County	e contract for which t	110 10111110	04/30/2025 Date Acknowledged: 05/13/2025		
3	Provide the identification number used by the governmental enti- description of the services, goods, or other property to be provided by the governmental enti- B25-055 Construction of Bellaire Blvd Right Turn Lanes			he contract, and pro	vide a	
4	Name of Interested Party	City, State, Country	/ (place of busine		of interest pplicable) Intermediary	
Gı	reenwood, John	Houston, TX Unit	ed States	X	Intermedialy	
_						
		<u> </u>				
5	Check only if there is NO Interested Party.					
6	UNSWORN DECLARATION					
	My name is	,	, and my date of bi	irth is	·	
	My address is(street)	(city)		(zip code)	_, (country)	
	I declare under penalty of perjury that the foregoing is true and correct Executed inCounty	ty, State of	. on the	dav of	. 20 .	
), claic s		(month)		
		Signature of author	ized agent of contra (Declarant)	racting business entity		